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1. Test Environment

A H2AE T : Team. T1

B. &M :2015.5. 16

C. OS: Windows 10 (64 bit)

D. Test M2 &=
i GUI 23 maE
ii. Listeners (Interface L O|2E)
iii. Setters, Getters

2. Test Result

Finished after 1.564 seconds ‘

Runs: 1/1 BErrors: 0 B Failures: 0
: 1
&l JTest.AnalyzeTest [Runner: JUnit 4] (0.000 s)
testAnalyze (
)i
= Failure Trace 2
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Finished after 1.564 seconds ‘

Runs: 1/1 BErrors: 0 B Failures: 0

£ JTest. AnalyzeTest |

= Failure Trace

1.1 Analyze

- void analyzelLine

o =
= 59

1 Name = “analyzelLine” Input Output Result
assertEquals(19, result); -
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1.2 Analyze - void analyzeFunction

2

Name = “analyzeFunction”

Output

Result

1.21

assertEquals(2, result)'
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PASS

1.2.2

assertEquals(“int main(void)”,
result.get(0));
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1.2.3

assertEquals(“void f(void)”,

result.get(1));
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1.3 Analyze - void analyzeVariable

3

Name = “analyzeVariable”

Input

Output

Result

1.3.1

assertEquals(2, result);
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static int x,

inty

PASS

1.3.2

assertEquals(“static int x”,

result.get(0));
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static int x

Static int x

PASS

1.4 Analyze - void analyzePreprocessor

4

Name = “analyzePreprocessor”

Input

Output

Result

1.4.1

assertEquals(1, result);
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#include

<stdio.h>

PASS

14.2

assertEquals(“#include <stdio.h>",

result);
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1.5 Analyze - void analyzeAnnotation

5 Name = “analyzeAnnotation” Input Output Result
assertEquals(2, result);
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1 74+5 59
e® b1 BE| @ B v = package JTest;

‘inished after 0.02 seconds

Runs: 5/5 8 Errors: 0 8 Failures: 0

1

v i JTest.TestCalculate [Runner: JUnit 4] (0.000 s)
t=) testCalAnnotation (0.000 s)
¢l testCalPreprocessor (0.000 s)
e testCalFunction (0.000 s)
t=] testCalLine (0.000 s)
t) testCalVariable (0.000 s)

import
import
import
import
import

import

public

static org.junit.Assert.*;
java.util.ArrayList;
org.junit.Test;
cloneChecker.Analyze;
cloneChecker.Calculate;
cloneChecker.Files;

class

= new
= new

<String>
<String>
<Files>

= new Arrayuist s

new Ar
= new

e
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= Failure Trace

2.1 Calculate - void CalLine

pub

lic void testcalLine() {

new

>rtEquals (40,

1 Name = “CalLine” Input Output Result
assertEquals(40, result);
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2.2 Calculate - void CalFunction

2 Name = “CalFunction” Input Output

Result

assertEquals(60, result);
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public void testCalFunction() {
("vor: void) ") ;
(' )
(al);
(bl) 7

(100) ;

= new

assertEquals (60,

2.3 Calculate - void CalVariable

3 Name = “CalVariable” Input Output

Result

assertEquals(60, result);
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public void testCalvVariable() {
( )7
(' K

ass

new

ertEquals (60,

2.4 Calculate - void CalPreprocessor
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4 Name = “CalPreprocessor” Input Result
assertEquals(60, result);
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void testCalPreprocessor () {
o K >1uc ) ;
( ")

= new

assertEquals (60,
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2.5 Calculate - void CalAnnotation

5 Name = “CalAnnotation” Input Output Result

assertEquals(60, result);
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